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Instructions:
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1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of simple calculators and non-programmable scientific calculators are permitted.
5. English version is authentic.

Marks
Q.1 (a) | Define Tacheometry .Write Purposes of Tacheometric Surveying. 03
Usl1 | () | 24d818L Hiust ol vl quil. wid511 Hiuet Hdelil ol S %Ll 03
(b) | Derive formula for horizontal distance and R.L. of staff station for tangential method of tacheometry when both angles | 04
are angle of elevation.
(1) | vids1L HIYesfl elsla AdHi 2R ¢ WLl Gaid 5181 €U AR Aldes vidR dell A& GIULE 2Nudl e YA | ox
dRdl.
(c) | Following are the observations of tacheometry Surveying . 07
Instrument Height Of Le;/g#ng Vertical Levelling Remarks
Station Instrument - Angle Staff Reading
Station
A +3930° 21,2631 R.L. of
© 1.25m B - 5930° 1.6,2.0,2.4 0=100m
Find AB Distance and also find Reduced Level Of A and B. (assume commonly used values of constants)
(5) | HidE1QAH YA YN 1A Hogistl wd €l 5ol lul . 09
Gusw | Gusralel | ddaw ¢ ddaisl £s ‘
bty GrILY €S Rlel Bldslal dleis s
o 1.25m A + 3030 212631 R.L. of
B - 5930° 1.6,2.0,2.4 0=100m
AB {2 281 dell A dell B ol AU GLULE 2Ll )e] wIAN (S oll A1 Id Aol Hi wlddl &) HIR) (.
OR
(c) | Intangential tacheometry, following are the reading, use it to find RL of Station Q and Distance PQ for both cases. (P | 07
is Instrument Station and Staff placed at Q)
Vertical Angle Staff Reading Remarks
CASE-1 4930’ 2.20
7°30° 4.10 RL of instrument axis: 100.0
CASE-2 -30 0.90 m
-20 1.40
(5) | elsly vidS1QH U Hi o1 Yosuistl wddlsel] dlae 8. W) Sl ol w11 et Q ofl YIN& QUL dULPQ | 09
R oo Y HI2 ). (P Altlel o @ lel B Q U 215 Y34 8)
Vertical Angle Staff Reading Remarks
3.1 4930’ 2.20
7930° 4.10 PorgHoR ol Wl <l
-3 0.90 U1UE GIULE : 100.0 m
542 -20 1.40
Q2 (a) | Enlist Different types of Curves. 03
ust.2 | () | [dlay gaslel 1€l ostidl. 03
(b) | Derive Formula of relation between Radius and Degree of Curves By chord definition 04
(W) | dsell [FoRil el 2421 4 o] ot YRell[Ud 52 Y2t dirdl. oY
(c) | Two Tangent intersect at the 1200 m chainage. Angle of Intersection is 65° at Point of Intersection. calculate following | 07
components of the curve for 170m radius.
(1) Tangent length, (2) length of long chord, (3) length of curve, (4) Chainage of Point of Curve and Point of Tangency,
(5) External distance (6) Mid-ordinate
(5) | A wels Asoflostal 1200 Hle AisulLs GUR B B Dol (0ig w110 DeatslRl 650 Q1A dl 170 Hle Biefll«ll | o9
ds H12 «{1A e21ldd 11Nl A8 530 (1) Welsell ol (2) €ld el oL, (3) dsell dodls, (4) dslGige
A0S A Wels(Giged AisNis (5) ilel vidR (6) 2R




OR

Q.2 (a) | Define Transition Curve. Write Advantages of Transition Curve. 03
ust2 | (1) | AslHl ds ol catval qull. sl dsell sidel slidl. 03
(b) | Draw neat sketch of showing Elements of Simple circular Curves. Derive formula for External Distance. 04
() | U0 dsetl €125] e2llad] 269 u15(d 121, G1aL BidR of Yo dRd). oY
(c) | Calculate the co-ordinates of a curve having long chord of 120 m and mid-ordinate=7.0m, for the of interval 10.0m 07
(8) | 1204122 <l €1t 2l 24 7 {122 ofl 2A°RUL cALo1L U201 dell ALH] ofl ALRLAZ] 5. AN ol vidRUe 10 Hle B . 09
Q.3 (a) | Explain about Digital Theodolite. 03
usl3 | () | [S[ewed (glslalse (9l yuesdl. 03
(b) | Write Advantages and Disadvantages of Total Station. 04
(W) | 2led 2l «ll slUel WA AR SlULL wLLd). oY
(c) | Explain steps for setup of Total Station on field. 07
(5) | (565U 2l2d 222lst dll6ddl «il U ¥QlId). 09
OR
Q.3 (a) | Enlist Precautions to be taken while using total station. 03
Usl.3 | () | 2led @Qlel dluRdl duld eleii 2w dlef] 1AM L), 03
(b) | Explain Principle Of E.D.M. 04
(W) | E.D.M. oll [Rieddid qHod) . oY
(c) | Explain about various types of Total stations also write about Advancement in total station Technology. 07
(5) | [alda usl «il 2124 22lel A1tet (Al AHox1) dell 212 2ol SellelHi Ualld (] quesdl. 09
Q.4 | (@) | Write Full Form (i).GPS (ii).ATR (iii).EDM 03
Ust4 | () | Y2 <l dull: (i).GPS (ii).ATR (iii).EDM 03
(b) | Explain about Segments of GPS. 04
(W) | GPS il [cay @110 (AN Huxxdl . o¥
(c) | Explain various applications (Uses) of GPS. 07
(5) | GPS «il (afay Gl oLl 09
OR
Q.4 | (&) | Write Function of following Key of Total Station (i).EDM (ii).Store (iii).List 03
usla | ) | 21109 2led R «il 51 of 51l 2lid). (i).EDM (ii).Store (iii).List 03
(b) | Write Advantages of GPS. 04
(W) | GPS el sl Ll . oY
(c) | How GPS works ? Explain various GPS measuring techniques. 07
(5) | GPs 58 31d sl 53 B 2 [aAldy GPS N3l 2[Sots HHMC. 09
Q.5 (a) | Distinguish Between : DGPS and GPS 03
L5 | (M) | dsldd 24Ul :DGPS sl GPS 03
(b) | Find multiplying constant and additive constant for theodolite from following details. 04
Distance of P from Theodolite Station is 30 m and Distance of Q is 60 m.
Staff Station Staff Intercept (S)
P 0.30 m
Q 0.60 m
(W) | NG Al Sell ol AR IRl MALN[S 2l AV2AIR0LE MU S 211H). oY
(aA1S)a 1652 el P of 2idR 30 Hl2: U Q of vidR 60 Hlez 8.
RS Wl RS ol WdRd ¢1dL
P 0.30m
Q 0.60 m
(c) | Explain about DGPS. Write it’s Functions, Advantages and applications. 07
(5) | DGPS (A2l AHod] detl s, S1EL 2 GUALDL %L 09
OR
Q.5 (a) | Write Limitations of GIS. 03
ugls | () | GIS ofl Hule i) %l . 03
(b) | Find multiplying constant and additive constant for theodolite from following details. 04
Instrument Distance between
. Staff Station Staff Reading Instrument station and
Station
Staff
0 A 0.630,0.880,1.130 50 m
B 1.540,2.040,2.540 100 m
(0d) | UG LSl ol WIHIR IYRlet WAULLLS 2 Al2LR{lE 24015 UL, 0¥
Ul of RS < - Ultlel of @lol 4
e o e o s dltels LS AR o vdR
0 A 0.630,0.880,1.130 50 m




| | B | 1.540,2.040,2.540 100 m
(c) | What is GIS? Explain in detail about Components of GIS. 07
(5) | GIS2Y 8.2 GISHl [alay @111l (Al ([dardd R ¥Hdl. 09




